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Mark Scheme

QL.
Working Answer |Mark Naotes

14 11 3 | Ml for both mixed numbers

By g expressed as improper
fractions

14 6 28 11 28n 1ln M1 seeing this stage gains
Cf R e QB e e M2

3 F1 6 6 6n 6n
egg 0.8t 28 .6 Shown Al dep on M2 for

3. A% 11 i

or ﬁxi=g_ ‘)E_ ‘)i

3§93 38 "33 1

&S T

14 11 28 11 28 6
of —=+—=—zs—=—= =2—

g% B 6 11 11

) 2
or correct working to ‘1‘—? and

5

writing 2 6 .28
11 11

Working required

conclusion to 2% from

correct working — erther
sight of result of
multiplication eg %

must be seen or correct
3 2
cancelling to 2 or
11
complete method using

division and common
denominators

Total 3 marks
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Q2.

Working Answer Mark Notes
2 18 3 |[Ml Both fractions expressed
eg — and — 3 :
7 as improper fractions.
27 7 M1 for both fractions
—X— 0 =3
4 18 expressed as equivalent
189 72 fractions with
or €8 — +— denominators that are a
28 28 :
common multiple of 4
and 7
(seeing this stage gains
M2)
- 27 g 7 _189 _21_,5 shown Al dep M2 conclusion to
4 18 72 g8 8 2= from correct
27 . 7 189 _% 3. 5 5
o i 18 7 TSy g working — either sight of
272 7 2 .5 the result of the
or X =—=2= e 189
4 18 8 8 multiplication e.g. e
IBO' 0 IR0 45 5 “ 72
o ot e o must be seen then
78 28 72 23 cancelled or correct
if the student clearly shows cancelling prior to the
32 =22 fes eyl nsed s 21
g 8 e ) R multiplication with"?
)
complete the LHS to 2 (often seen.
8 NB entire solution using
done in 1* line of working) decimals scores no
marks.
Total 3 marks
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Q3.

Q Working

Mark Notes

2
eg §><150(= 60) or eg 0.32 x 150 (= 48)

for finding the number of
small mugs or number of
medium mugs

eg 150 — “60" — 48" (= 42)

M1 for finding the number of

large mugs

(= 1644)

eg “607 x 8.50 + 7487x 11.20 + 7427 x
1420(=1644) or 510 +537.6 + 596 4

M1 for working out the

income.

Profit = 504 implies M3

"1644"-1140
eg ———M
1140

164"  100-100
1140

x100 or

M1 (indep) for a complete
method to find the
percentage profit for
their total income (must
be greater than 1140)

An answer of 144

implies M4

44

Al 44 or better (44.2105..)

Total 5 marks

Q4.

Working

Mark

Notes

16

20 7 18
Y of TR NN 2=
3( )7or()21( ) )21

M1 for correct improper fractions or
fractional part of numbers written
correctly over a common
denominator (no need for minus

sign)

112 60 7 18 11 M1 for correct fractions with a common
—_— — ——2— =3—— oeor - 2 : i

21 21 21 21 denomunator with minus sign or
5 7 . 18 , 28 ) 18 mixed numbers to the stage shown

21 31— D1 M
112 60 52 _10 11 10 Shown Al Dep on M2 for a correct answer
———=—=2—o0e0r3——=2—0r g

21 2% 21 21 2 21 from fully correct working

7 18 28

If all 3 fractions turned into
improper fractions on the first line

2 2
16 20 = % then the student
3 F 23
clearly needs to show that the LHS
L 0
21

Tatal 3 marks
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Q5.

or if shows 6i = Eat the
12 12

beginning then show that the

o 7
addition comes to 1—?

Q Working Answer Mark Notes
8...15 8 9 3 M1 for correct improper fractions or
= — ar ()— R
3 +) 4 e 12 S2\C) 12 fractional part of numbers written
%3 9 correctly over a common denominator
a
or 2)—(+H)(3)—
( )120( X )l2a
8x4+15x%3 32 4 M1 for correct fractions with a common
3Ix4 Fe 12 12 denominator of 12 or a multiple of 12
32a 43a
or —+——
12a 12a
o1 2£+32 = SH oe
12 12 12
32 -85 T 9 Shown Al dep on M2 for a correct answer from

fully correct working or shows that
RHS = Z—Z and fully correct working

shows LHS = E
12

Tatal 3 marks
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Q6.

Working

Mark

Notes

300=(7+5+3)(=20)
clear correct use of 7+ 5 + 3 (= 13) eg division
f "2.8"* "1.8" \I

! or correct use of

ttheend by 15 | ——
at the end by ‘ T |

: : 2 7
15 1n a fraction eg — x—
> 15

2
%x (7%"20") (=36) oe eg 0.4 %140 (= 56)
oe

[ \ 2 { !
%X7. . =28 eg =x ll =L£t=0.186... l
5 5 ) 5 15%.. 75 )

0.36 = (5 % ~207)(=36)[from working]
or

0365 (=18) eg —o x| =20 ~0.12 | oe
100 15\ 1500 )
56"+"36 = 92 yisi
300 300
3%
1' "2.8"+ "1.8" \ "5’ "5'
B(— 15 ) 15
J14. 180,
s | = e
75 1500

23
75

M1 (no mark for “157 unless
1t 1s used correctly)

useof 7x 20 or 140 or 5 x 20 or

100 in further work
assumes this mark

5
o finding ? of the number

of birthday cards

or

of the share of 7 or

of fraction of amount

whlto W bo

M1 finding 36% of anmiversary
cards
Or
36% of the share of 5 or

36% of fraction of amount

M1 for any fraction from correct
working that 1sn’t simplified
or
30.66..% or 0.3066...

Al

Total 5 marks
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Q7.

Working

Mark

Notes

(@)

. 14,28, 56 and
,7.12,14,21, 28,42, 84

N
o 00

s £}

2227and 2237

or eg.

28 [56 |84

M1 for any correct valid method
and no errors e.g.

for starting to list at least

four different factors of each
number and no errors or

2227 and 2237 seen

(may be 1n a factor tree or a ladder
diagram and 1gnore 1)

or a fully correct Venn diagram
or other clear method, e_g. table

28

Al dep M1 accept 22 x 7 oe

(®)

60, 120, 180, 240... and 72, 144, 216, 288._.

ar

2235and22233 60 |72

il 30 |36

15 |18

D
W

5 6

3

60x72
or

or2.2.2.3.3.5 oe

M1 for any correct valid method
and no errors e.g.

for starting to list at least four
multiples of each number

or

2235and 22233 seen
(may be 1n a factor tree or a
ladder diagram and ignore 1)
or a fully correct Venn diagram
or other clear method, e.g, table

360

Al dep M1 accept 2® x 32 x 5 oe

Total 4 marks
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Q8.

Q Working Answer |Mark Notes
22x7 or 2x3x7 or 3*x7 3 | M1 accept prime factors seen
oe condone 1’s in factor tree in factor tree or correct
. . . position 1n Venn
or showmg at least 5 correct multiples across diagram for at least one
at least 2 lists (excluding 28. 42 63) L
(28) 56. 84. 112. 140, 168, 196, 224, 252
(42) 84. 126, 168. 210. 252
(63) 126, 189. 252
22x7 and 2x3x7 and 3’ x7 M1 accept prime factors seen
or showing at least 9 correct multiples across in factor tree or correct
all 3 lists (excluding 28. 42_63) position 1 Venn
diagram for all 3 of the
numbers given.
252 Al or 22x32x7 Depon
M1
alt || 7 28 42 63 3 | Ml For one correct row 1n
2 4 6 9 table
3 2 3 9 eg division by 7 gives 4,
. 1 3 6.9
M1
7 28 42 63
2 4 6 9 Fully correct table —
3 2 3 9 need only go as far as
) 2 1 3 top table — we want to
3 1 1 3 see prime factors along
D 1 1 1 the side or prime factors
along the sides and
bottom (condone 17s)
252 Al or 22x32x7 Depon

M1

Total 3 marks
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Qo.

Q Working Answer | Mark Notes
3 33 g 5 M1 Do NOT award M1 fore.g.
—+45% | === or 82.5(%)or 0.825 3
8 40 < +45(%)+406(=....)oe
n33n( 7 } Ml
-———=—|or
40 40
100—"82.5"('%)(=17.5(_%)')01'
1-"0.825"(=0.175)
LU ”n MI
406 = (=2320) or
40
bt 5 i
406 ~ oe (=2320) or
1% =406 + “17.57(=23.2) oe
0.45 x “2320” oe or 45 x 232" oe M1
1044 Al
Total 5 marks
: 5 M1 Do NOT award M1 fore.g.
\LT | 2X+045x+4060e g, ek
: 8 §+45(%)+406(=....) oe
%x+0.45x+406 o M1 for a correct equation
406 406 s
(x=) 3 [:.7 =2320]
1—§—045 /éo
0.45 x <2320~ M1
1044 Al
Total S marks
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Q10.

Q Working Answer | Mark Notes
(@) | (231776 —228 314) =228 314 2 Ml
or 3462 =228 314 (=0.01516..)
or 231776 +228 314 (=1.01516...)
1.5 Al for 15 orbetter (1.516..)
(be careful: 3462 =231 776 x 100
=149__)
(b) (231776 +1.077 oce 3 M2 Ifnot M2
then M1 for 1.077 or 107.7 or
1+0.077(=1.077 ) seen
butnot 1 +7.7%
215000 Al for 215 000 or better

(215205.19..)

(1f no marks awarded
SCBI1 for 212000 or better

(211990.71...))

Tatal 5 marks
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Q11.

Q Working Answer |Mark Notes
eg 2x2x300 3 [MI1 for at least 2 correct stages in prime
2x35x%120 factorisation which give 2 prime factors
2x3x200 may be 1n a factor tree or a table or listed
3x5x80o0r eg 2. 2. 300 (allow no more than one
eg mustake ft (eg one mistake with 2 prime
1200 or factors ft 1200 =20 x 600 =
2 |00 2 % 10 x 3 x 200))
- G CMA.\—‘
N 3 600
3 200 200
22223805 7 1200 M1 for finding the correct prime factors
or 3 600 condone inclusion of 1 (may be seenin a
fully correct factor tree or ladder)
1200 2 200
2 Neso 5 | 100
{ %o 2 20
ot R E 10
\ 2 2
16 U‘ = -
X N (1
T oe
2% x3x5? Al (dep on M2 as working requested)
Can be in any order (allow 2*. 3 . 5%) but
must be in index form as asked for.
Total 3 marks
Q12.
Q Working Answer Mark Notes
196 (9 —-35) (=49) oe 3 [Ml
3 x “49” M1
147 Al SCBI for an answer
from
34.5—34.6 or an answer
of 42
Total 3 marks
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Q13.

Q Working Answer |Mark Notes
eg 045 > 180 (=81) oe 4 M1 for a method to find the number of
students studying German
5l 1 Sl
R @( 12 or 0.0833 J OR the number of students studying
' ' French as a fraction or decimal of the
15 total students
OR —x100(=8.3(33...)%)
130 OR a method to find the percentage of
students studying French
81 may be seen as part of an equation
eg 180—-15-"81"(=84) or M1 for a method to find the number of
“817 + 15 (= 96) students studying Italian/Spanish or
French/German
1 45 7
o _(E ﬁ} & [B or 0.466.. ) OR a method to find the fraction or
1 45 (8 ' decimal of students studying
—_—t— =( — or 0.533 J Italian/Spanish or French/German
12 100 \15
OR a method to find the percentage of
N students studying Italian/Spanish or
OR 100 —("8.37 + 45) (=46.6(66...) FrenchiGannan
or 46.7%)
or “8.3" + 45 (= 53.3(33..) or 53.3%) 84 or.96 may be seen as part of an
equation
"84" T M1 for a complete method to find the
€g 180_"84" (x 100)(= g™ 0.875 ] fraction or decimal or percentage of
_ ' » Italian/Spanish to French/German
or ad (x 100)(=l or 0.875 )
"96" - 8 '
or "l"+"—8—"[= Z or 0.875)
5 15 8
LLJ 46.6 "
- ——(x100)(=0.872...
01 "53-3"( )( )
87.5 Al  accept 87.2-877

Total 4 marks
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Q14.

Q Working Answer Mark Notes
12.6 x 1002149 5 12 6 x 1012 2
or 1.26 x 10" i
1.26 x 10122 Al allow 1.3 x 10!
Total 2 marks

Q15.
Q Working Answer Mark Notes
216 or 2.16 or 10" or 10'* or 6 x10%= 3 M1  or for digits 216
216x10° oe or or 2.16 x 10” where n # 122 Ml
2.16x10'2 Al
Total 3 marks
Q16.
Q Working Answer Mark Notes
(a) 8800000 1 Bl
(b) Barcelona 1 Bl accept 5.5 x 10°
(©) [3.7x10"-7.7x 108 or 2 M1 allow293)x 10" (n#7)
29300000 oe
or 37 000 000 — 7 700 000
or 29000000 oe
or 0.293) x 10®
or 29(.3) x 10°
29x 107 Al  accept—2.9 x 10’ )
accept 2.93 x 107 or —2.93 x 10’
Total 4 marks
Q17.
Q ‘Working Answer Mark Notes
(a) 8.9 x 107 1 Bl
(b) 83 400 1 Bl
Total 2 marks
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